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GSQ/M-20 1687

ECONOMICS
Sectoral Aspects of Indian Economy

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting one question
each from three Units. 4th question may be attempted
from any Unit. Q. No. 1 is compulsory.
dy ikp i"uk d mlj nift, A riu bdko;k 1 ,dé&,d
1'u rAk piFk 1'u fdlh Hh bdib I dift, A 1'u
I[;k 1 viuok; g A

Compulsory Question (\Vfuok; 1°u)

1. (i) Which of the following is not a cause of pollution ?
(a) Industrialisation (b) Deforestation
(c) Computerisation (d) Population
futufyf[ir e 1 dilk in"k db dij.k ugh g \
(v) vixidj.k (c) ougfout’k
() dezvirdjh () tul[:h

(i) The process of giving one big farm in place of

small scattered farms to farmers is called :

(a) Cooperative farming
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(iii)

(iv)

)

(vi)
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(b) Consolidation
(c) Tenancy
(d) None of the above
fdliuk d fc[lj g, NV&NkV [irt dh txg ,d cWk
[kr nu db 1f@;k dk D;k dgr g \
(v) lgdjh Ry
(c) pdcln
(1) dirdih
() mi;Dr e 1 dib ugh
Which industry is reserved for public sector ?
(a) Petroleum (b) Mining
(c) Atomic Energy (d) None of these
( mlx Dotfud {& d fy, ljffir g \
(V) 1ify;e (©) [lu
(D) 1jekk mot (n) bue I dib ugh

Main benefit of Green Revolution was to wheat

and rice. (True/False)
offjr @ifr dk e[; yiH xg o Zw dk feyk A
(Ighixyr)
Second Five Year Plan emphasised basic and heavy
industries. (True/False)
nljh ipo'th; ;keuk e Wi/kjHr o High mi®;k dk
eglo feyk A (1ghixyr)

........... maintains buffers stocks of Agricultural

"""""""""" Nf% [k] inFlk dk ciQj LVd djri g A



(vii) What is full form of ONGC.
ONGC dk 1.k -1 D3k g \

(viii)) What is full form of BSNL. 2x8=16
BSNL dk 1.k =1 D;k g \

Unit I (bdkb 1)

2. What is Agricultural Productivity ? What are the causes
of backwardness of agriculture in India ? Discuss steps
taken by govt. to improve it. 16
Nf't miindrk 1 D3k vitkik; g \ Hijr e Nf'% d fiNMiu
d D:k dij.k g \ ljdj u ble 17§ d fy, D:k dne
mBk; g \

3. Describe Green Revolution. Discuss merits and demerits

of Green Revolution. 16
ofjr @kr D;k g \ bld VPN o cj iHiok dk o.ku
dift, A

Unit IT (bdkb 11)

4. Discuss the importance of cottage and small scale
industries in India. What are their problems ? What steps

govt. has taken to improve their condition ? 16

Hijr e dvij o y% mjixk dn D;k Hfedk g \ budh
lel;k, D;k g \ 1jdij u budh fLRfr e 1/kj d fy, D;k
dne mBt; g \
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Define Foreign Capital and its types. What is the role of

foreign capital in India's development ? 16

fon'ih 1th o mld 1dijk dk o.ku dift, A Hkjr d fodkl
e fon"lh 1th d ;kxnlu dk o.ku dift, A

Unit 111 (bdkb 111)

What are causes of Disequilibrium in Balance of Payments.

What are the measures to remove this disequilibrium ?16

Hxriu "t d vlUryu d D;k dij.k g \ Hxriu "% d
viryu dk nj dju d D;k mik; g \

Discuss various objectives of World Bank. What are its

main functions ? 16
fo'o cd d e[; mi*; D;k g \ bld e[; dk;k dk o.ku
dift, A

Unit IV (bdkb 1V)

Define Inflation. What are its causes ? What steps govt.

has taken to control it ? 16

eni&Lifhfr dk ifjHkftr dift, A c<rh egxib d D;k dij.k
g \ Ijdij u bl fu;fer dju d fy, D;k dne mBk; g \

Discuss the causes of poverty in Haryana and steps taken
by govt. to control it. 16
ofj;k.k e c<rh xjhch d D;k dij.k g \ Ijdij u bld
mleyu d fy, D;k dne mBk; g \



